® www.seco.gr
’ Tel. 0030 210 9846222
Fax 0030 210 9822276

1 I 1 1 1 LIl Agiou Dimitriou 263, TK. 17342, Athens, Greece

Central Motors MANUAL

Instructions and warnings for fitters

.4Ih
<W»

ENG

Central Motors c €

Instructions and warnings for fitters



Central Motors
Instructions and warnings for fitters

EC - Declaration of conformity k

The central gearmotors for rolling shutters sedes CHINABOLT comply with the Fellowing technical
standards: UNI EM 292 Part LUNI EN 292 Part 2 UNI EN 204, UNIEN 418,CE EN 60335-1,EN 55014-2 and
the European directives 98737BEC, 7372 3/EEC, and 8973387 EEC,

Declaration of incorporation

The central gearmotans for nolling shulbers senies CHINABOLT . when installed and maintained soording
1o the manufscturer's instructions, in conjunction with roller rolling shutter, which must alio be in-
stalled and maintained according to the instruc-tions of their manufacturers, comply with the pro-
wisbons of the regulations of the EU Directive 897392 EEC and successive amendments,

I the undersagned declare that the feregoing equip-ment and all i acceisories slated in the handbook
comply with the foregoing directives,

IMPORTANT SAFETY INSTRUCTIONS ATTENTION - FOR REASONS OF PERSO-NAL
SAFETY IT IS IMPORTANT TO OB-SERVE THESE INSTRUCTIONS RETAIN THESE

INSTRUCTIONS

Do ool et children play with fixed
con-tral devices. Keep the remotle
contreds out of reach of children
Perfarm fre-quent checks an the
system for any signs of unbalance and wear or
damage 10 wires or springs. Do not use the
equipment if it requines repair or regulation,

These warning

symbols seive Lo

remind you 18 pay

the maximum
attention when the equipment is in use.They
indicate the procedures 1o be followed fo avald
rigks to periond of (hings.This gearmater is
designed 1o function safely if installed and wsed
in compliance with the following
instructions.The equipment must only be
employed for resbidentlal uses and must be
indtalled indoors.

You are warmed hal incorrecl
installation cam cause serious
injuries_Follow all the installation
imstrRaETang

o nol uie command butlons thal can
simultanecously aperate the
equipment in Both directions. Do not
com-mand more than one gearmotor
with each button Conduct freguent
examinations an the installation 1o check fos Signg
of unbalance and wearfdamage to the wining. Do
mat ude the equipment if it requires nepaird or
adjustments. The product cannot be installed for
heights of less than 2.5, m.
The deployment of a device that guarantess
omnipslar disconnection from the malns with an
opening of At least 3 mm between the contacts is
obligatany.
Before installing the geasmotor for operating the
rolling shutter remove all superfluous wires and
disable amy egquipment not necessary for motorsed
movemenl.The contrel button must Be placed in
sight of the eguipment. kepl separale lrom the
meorvimg parts and at a height of atleast 1.5 m.
If the power cables are damaged they must be
replaced by the constructor or his technical after-
sales service or in any case, by a similarly gualified
perion in order to avoid all risks.The gearmoter is
designed for intermittent operation and is provided
with an iaternal thermal protection that intermupts
power supply in the event of owerheating caused by
continued use.The gearmotor automatically resels
sl after a few minutes, However, regular
operation will anly be possible whon the grarmotor
£o0l1 down

_1_




wWww.seco.gr
Tel. 0030 210 9846222

Fax 0030 210 9822276
Agiou Dimitriou 263, TK. 17342, Athens, Greece

technical characteristics k

woDEL Tomaue | Lewmo | mem. | conoensen | voLTage | ASSOEED | powen | temvaL | weiHT

oo - - v r w o p

BoLT-cTarceTo e . m Tour 205011z ™ e P s
[SE— w . m o 205011z o 20z P .
BoLT-C100GB100 w0 . m Taur 205011z o e P os
soLT-c1z0/0120 s . m Tour 20-50m1z e s P os
BoLT-C1a00140 w0 . m Taur 20-50r1z s s P .
[E—— o0 . w o ey pym o P s
[E— a0 . w0 oy 205011z 205 oo P m
BoLT-com o . m wor prowrym P . s
[aEy=— w . m wour prowrym ™ 7 .
PSES— o . m wour prowym o o P o5
PISES—— P . m waur progym e ™ P o5
PISEp— o . " waur 205011z o P P os
PISE— e . m Tour 205011z e S0 P .
ISE— a0 . m Taur 205011z 25 590 P s
ESE— 20 . m 200 20-50r1z 200 ) P o5
ESEy— 20 . m 20 20-50r1z s 72 P m
EE— 200 . m ppe 20-50m1z e ) P m
EE—— poos . © ey e P o

TECHNICAL DATA k

TiDwE-cast alumimum body and nim 16 . s i shigtler hessght

2¥itee| gears, roller bearings Lopnlimontation eloctric cabledxd mm2 for
IjRim mounted on bearing

d}Dwive shalt mounied on doulble ball bea rings
SpAsymchaanaus 4 pale motar 1,400 rpm

BOLT Cand BOLT F,4x1.5 mm2 for
BOLT CDM and BOLT FDM.

E)Class B isclation 11}0perating temperature: -20°C. +85*C

TiThermal protection on mator: 160°C. LZpFintings for electrabrake mounting P-PEM-
S)Easy limit-switch adjustmant PLLS
. ]
[
2 B EucTesca. Wik SCHEME
W
| m
r—1- \
M o i
- il o
- | P 5
= -
, T30Va BMy
L]
[

E.. o oo  Elo B i T
BETWEEN CONTACTS
EEm.nuL mlﬁlu Imwm-_-

_2_




Central Motors
Instructions and warnings for fitters

INSTALLATION INTRUCTIONS

1} Drilla 10 mm diameter hole 5 am from the
centre of the shutter’s shaft (see fig. I);

2) Remove the M 10 te. screws from the
gear of the gearmotor,

3) Remove the two semi-gears by unscrewing
the two M 8 screws (using a & mm hexagonal
wrench);

4) Carefully remaove, avolding any folding, the
black plastic roller carrier bandk

5) Separate the two elerments of the gearmo-
tor (upper and lower body) acting on the four
M 8 screws (using a & mm haxagonal wrench);
&) Should the shuter shaft be bess dhan &0 mm
long, use the dedicated reducing sockets posi-
doning them using the previously drilled 10
diameter mm hole as a reference (point 1)
7) Join the upper and lower bodies using the
four MB screws removed before;

8) Tighten dhe M 10 ce. sorew without hexa-
gon nut using a 17 mm wrench and ensure I
enters the shutter shaft via che 10 mm hole
(previcusly drilled)

9} sl dhe roller band in its appropriace
housing

10) Apply the semi-gears, halding them with
the two M B screws;

11) Tighten dhe M 10 ce. screw with nut 5o as
o block the gearmotor on the shaftand tgh-
e said nu

12) Place the last canwas of the shutter on the
shaft and drill 2 12 mm diarmeter hole at the

same location as the MI0 threaded hole on
the gear;

13) Tighten by hand che gear by 1-1': turns by
bringing the grip towards microswicch |
{dewn) fig. | {le must ourn easilyl

14) Lodck the shutter vo the gearmotor using
the M 10 te. screw with washer {using a |7
mim wrench);

15) Make the electrical connections described
in page 7 passing the 4 rmm cable supplied in-
side the shutter shaft avoiding any contact
with the rotating pars:

16) After having instaBed e mechanical parcs
and electrical contaces, proceed to regulate
the end of wravel

17) Tun the end of travel grip by hand uniti-
you hear the click of the microswicchs trigger
{dewn regulation completed),

18) Turn the other grip towards micro-
switch Il (up). Switch on current to the gear-
motor via the key selcvor or button o en-
sure that when rising the shutter stops at
the correct point to regulate the position,
adjust the grip, using solely and exclusheety
the electric commands taking all precautions
o awodd manual lifding.

19) Should the shutter need oo be installed
contrary o the description in fig. |, the steps
described above should be carried out to the
contrary as microswitch Il will stop dhe de-
scent and microswitch | will stop the opening.



WwWw.seco.gr
Tel. 0030 210 9846222

Fax 0030 210 9822276
Agiou Dimitriou 263, TK. 17342, Athens, Greece

SHUTTER

SHAFT CENTRE OF SHUTTER




EVD 1T

ISVITIH ._.._._._f_.._.lﬁ
N |
T

TAvEBOELIID L DN 3038 H3JRNT 3HL JADROH O HI8M0MES

UoISIanU] - N UOISIAUT - ) UOWILWIDD -

»
e
(3]

=

&
(.
[e]

-
)
o

e
c
=
O
3

o
c
o]
%)
c

.2
=
1%
=]
=
=
1)
=

7€c9

Central Motors




www.seco.gr

Tel. 0030 210 9846222

Fax 0030 210 9822276

Agiou Dimitriou 263, TK. 17342, Athens, Greece

Blow up view of the electrobrake

/7 =
.llf' B




Central Motors
Instructions and warnings for fitters

The Chinabolt builc with a 200 mm crown wheel, which can be cormerced into a 220 mm
crown wheel by the use of a perimetral band.

P T
E— o r
o B
T—
[ L " =aCw — . — .."“
. -
r L_.- = x oY
g N
7 W
.- \ y
[l = \ bexa i :';I.

MO Dk g B e CRCW WAL O CRED D S e NN, O P e

EUROSAFETY . EUROSAFETY PLUS - UNISAFETY - UNISAFETY PLUS

Evrcrstery and Uvisafety srp veris o the geramocce s with afety devicoe caimsd ot 10 the slog dee res [l
of roller thuttery Snd B the me o, im PRA vEFIen, 10 REBITURE the mowDredunor's inedng,

TOWARDS OF INSTALLATION OF THE CEARMOTOR




www.seco.gr

Tel. 0030 210 9846222

Fax 0030 210 9822276

Agiou Dimitriou 263, TK. 17342, Athens, Greece

PREPARTION N Y%




Central Motors
Instructions and warnings for fitters

s PAWL POSITION




www.seco.gr

Tel. 0030 210 9846222

Fax 0030 210 9822276

Agiou Dimitriou 263, TK. 17342, Athens, Greece

MICROSWITCH {OMLY FPLUS VERSIDNS) ™
3
L
\
lI|
1
1
1300 S 50Hz ¢
] =
F
i &
FARTH
. v

ELECTRICAL WIRING SCHEME



JCCO

WWwWw.seco.gr

Agiou Dimitriou 263, TK. 17342, Athens, Greece
Tel. 0030 210 9846222

c € Fax 0030 210 9822276




